
v 
I 

. 0.. 
UJ 

~ REPLACEMENT PARTS . ~ 

UJ 

for 

TYPE 80 TELEPHONE 
TYPE 90 TELEPHONE 

TYPE 90M TELEPHONE 

EM-REP-4 

GENERAL 

AUTOMATIC ELECTRIC ~ 
Subsidiary of 

GENERAL TELEPHONE & ELECTRONICS 

Copyright © 1961 Automatic Electric Company 

TCI Library  www.telephonecollectors.info 



Type 80 Desk Telephone 

Fig. 
No. 

1. 
2. 
3. 
4. 

5. 
6. 

7. 

8. 
9. 

10. 
11. 
12. 
13. 
14. 
15. 
16. 
17. 
18. 
19. 
20. 
21. 
22. 
23. 
24. 
25. 
26. 
27. 
28. 
29. 
30. 
31. 
32. 
33. 
34. 
35. 
36. 

37. 
38. 
39. 
40. 
41. 
42. 
43. 
44. 
45. 
46. 

Description 

Housing Assemblyl 
• Plunger-Switch Assembly 
· Cradle Hole Cover2 . 
· Cradle Hole Cover Screw 

(6-32 X 3/8" PK Type F RHS) 
· Standard Circuit Label3 . . 
Handset & Cord Assembly4 

D . l A bl 5 {Type 52 (1-0) . 
ia ssem y Type 52 (ABC) 

· Dial Mounting Bracket 
· Dial Screw (4-36 RHIM SEMS) 
·Dial Dust Cover. . . . 
·Dust Cover Screw (4-36 X 9/16" RHIMS) 
· Black Escutcheon Ring3 . . 
· Chrome Escutcheon Ring3 . 
· Black Dial Card3 
· White Dial Card 3 
· Celluloid Cover3 . . . 
· Black Dial Card Clamping Plate3 
Dial Hole Cover6 . . . . . . . 
· Dial Blank Screw (4 X 3/8" PK Type Z RHS)3 
Switch & Bracket Assembly 
· Spring Combination . 
· Switch Dust Cover 
, Hookswitch Lever & Buffer Assembly 
· Switch Lever Bearing Pin 
· Switch Lever Pin Lock . . . 
• Pin Lock Screw (3-48 X 3/16" Bdg. HIMS) 
· Switch Lever Coil Spring . 
·Tripod . 
Ringer Assembly . 
· Ringer Screw 
Transmission Unit 
· Transmission Unit Mounting Screw • 
· Transmission Unit Mounting Square Nut 
• Transmission Unit Clamp . . . . 
· Transmission Unit & Tube Mounting Block . 
· Transmission Unit Terminal Screw 

(5-40 X 1/4" Bdg. HBRMS) 
· Terminal Link . 
Wire Clamp . . . 
Line Cord (3-Conductor)7 
Base Plate Assembly . 
· Base Plate Cord Clamp 
• Bracket & Cord Clamp Screw . . . . 
· Outside Screw (6-40 X 1/4" RH Steel SEMS) 
·Rheostat . . . . . . . . 
· Mounting Block Screw (6-32 X 3/16" RHIMS) 
· Base Plate Screw 

No. 
Req. 

1 
2 
1 

1 
1 
1 

1 
1 
1 
3 
1 
2 
1 
1 
1 
1 
1 
1 
1 
3 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
3 
1 
1 
1 
1 
1 

16 
1 
1 
1 
1 
2 
4 
1 
1 
1 
3 

Notes: 

2 

1see (1) on page 6. 
2see (2) on page 6. 
3Not shown. 
4see (6) and (7) on page 6. 

5see (3) on page 6. 
6see (4) on page 6. 
7see (5) on page 6. 

Order No. 

D-49935-
D-67586-A 
D-49937-

D-760904-A 
D-530142-A 
L-9024-
& L-9027-
D-84900-
D-84901-
D-731543-A 
D-760730-A 
D-49929-A 

D-65112-D 
D-65510-A 
D-53620-A 
D-530182-A 
D-53176-A 
D-78541-A 
D-49995-
D-76950-E 
D-735306-A 
D-735355-A 
D-49928-A 
D-16360-A 
D-37 592-A 
D-58062-A 

D-109780-A 
D-731713-AR 
D-56548-
D-7607 35-A 
D-38362-A 
D-7607 34-A 
D-77389-A 
D-731491-A 
D-660256-A 

D-760848-A 

D-731510-A 
D-543212-
D-780659-A 
D-731490-A 
D-760733-A 
D-760764-A 
D-284068-A 

D-760793-A 

Self­
Compensating 

Order No. 

D-49935-
D-67586-A 
D-49937-

D-760904-A 
H-54495-1 
L-9053-
L-9054-
D-84900-
D-84901-
D-7 31543-A 
D-760730-A 
D-49929-A 

D-65112-D 
D-65510-A 
D-53620-A 
D-530182-A 
D-53176-A 
D-78541-A 
D-49995-
D-76950-E 
D-735408-A 
D-735355-D 
D-49928-A 
D-16360-A 
D-37 592-A 
D-58062-A 

D-109780-A 
D-731713-AR 
D-56548-
D-7607 35-A 
D-38384-A 

D-760848-A 
D-61079-A 
D-731510-A 
D-543212-
D-780659-G 
D-731490-A 
D-760733-A 

D-760793-A 

TCI Library  www.telephonecollectors.info 



Type 80 Desk Telephone 

Top View 

3 TCI Library  www.telephonecollectors.info 



Type 90 Type 90M Type 901\1 

With Self-
Compensating 

Fig. No. No. Circuit 

No. Description Req. Order No. Req. Order No. Order No. 

1. Housing Assemblyl 1 D-49976- 1 D-49976- D-49976-
2. . Housing Screw 1 D-760773-A 1 D-760773-A D-760773-A 
3. . Housing Mounting Bracket . . . . 1 D-731536-A 1 D-731536-A D-7 31536-A 
4. . Housing Bracket Screw (8-32 X 5/8" RHIMS) 2 D-76491-C 2 D-76491-C D-76491-C 
5. . Circuit Label2 . . 1 D-530176-A 1 D-530253-A H-54497-1 
6, Handset Assembly3 1 L-9024- 1 L-9024- L-9053-

& L-9027- & L-9027- & L-9054-
7. . Bracket Assembly & Cord Clamp Screw 2 D-760733-A 2 D-760764-A D-760764-A 

8. . 4 {Type52(1-0) 1 D-84900- 1 D-84900- D-84900-
Dial Assembly Type 52 (ABC) 1 D-84901- 1 D-84901- D-84901-

9. . Dial Mounting Bracket 1 D-731535-A 1 D-731535-A D-731535-A 
10. . Dial Bracket Screw (4-36 RHIM SEMS)2 1 D-760730-A 1 D-760730-A D-760730-A 
11. . Dial Dust Cover2 . . . 1 D-49929-A 1 D-49929-A D-49929-A 
12. . Dust Cover Screw (4-36 X 9/16" RHIMS)2 2 2 
13. Dial Hole Cover5 . . . . . . 1 D-49995- 1 D-49995- D-49995-
14. . Dial Hole Cover Screw (4 X 3/8" PK Type Z RHS)2 3 D-76950-E 3 D-76950-E D-76950-E 
15. Chrome Hookswitch & Bracket Assembly 1 D-731542-A 1 D-735371-A D-735394-B 
16. . Hookswitch Dust Cover . . . . 1 D-49928-A 1 D-49928-A 
17. . Hookswitch Screw (6-32 X 3/16" RHIMS) 1 
18. . Hookswitch Screw 1 D-760734-A D-760734-A 
19. . Hookswitch & Bracket Assembly Screw 1 D-760775-A 1 D-760775-A D-760775-A 
20. Hooklatch Assembly 1 H-883196-1 1 H-883196-1 H-883196-1 
21. . Hooklatch 1 D-58065-A 1 D-58065-A D-58065-A 
22. . Hooklatch Screw 1 D-760774-A 1 D-760774-A D-760774-A 
23. . Hooklatch Washer 1 D-17473-A 1 D-17473-A D-17473-A 
24. Terminal Strip 1 D-150024-A3 1 D-150024-A2 D-150024-A2 
25. . Terminal Strip Bracket 1 D-731534-A 
26. . Terminal Strip Screw 2 D-760734-A 2 D-760734-A D-760734-A 
27. Tripod Assembly 1 D-731666-A D-731666-A 
28. Hookswitch Spring & Bracket Assembly . D-735356-A 1 D-735370-A D-735393-B 
29. . Hookswitch Bracket & Clamp Screw 

(6-32 X 1/4" RHIMS) 2 

Type 90 

@ Hooklatch Assembly 

4 
TCI Library  www.telephonecollectors.info 



Fig. 
No. Description 

30. Mounting Bracket Screw 
31. Switch Lever Coil Spring 
32. Rheostat 
33. . Rheostat Mounting Screw 
34. . Rheostat Bushing 
35. Capacitor (1 MF) 
36. . Capacitor Mounting Bracket 
37. Ringer Assembly 
38. . Ringer Mounting Screw 
39. . Ringer Mounting Bracket 
40. . Ringer Mounting Bracket Screw 
41. Transmission Unit 
42. . Transmission Unit Screw . 
43. . Transmission Unit Square Nut 
44. . Transmission Unit Terminal Screw 

(5-40 X 1/4" Bdg. HBRMS) 
45. . Te.:·minal Link . . . 
46. . Transmission Unit Clamp 
47. Wire Clamp . 
48. Base Plate Assembly . 
49. . Base Plate Cord Clamp 
50. Wall Mounting Washer2 

Notes: 

lsee (1) on page 6. 
2Not shown. 
3see (6) and (7) on page 6. 
4see (3) on page 6. 
5see (4) on page 6. 
6Not shown on Type 90M. 

Type 90M 
Type 90 

No. 
Req. 

1 
1 
1 
2 
2 
1 
1 
1 
3 
1 
2 
1 
1 
1 

16 
1 
1 
1 
1 
1 
4 

Type 90 Type 90M Type 90M 

With Self-
Compensating 

No. Circuit 

Order No. Reg. Order No. Order No. 

D-760735-A 
D-109797-A 1 D-109858-A D-109780-A 
D-284068-A 1 D-284068-A 
D-760776-A 2 D-760846-A 
D-750233-A 2 D-750260-A 
D-68563-A 
D-731552-A 
D-56548- 1 D-56548- D-56548-
D-7607 35-A 2 D-760735-A D-760735-A 
D-780701-A 1 D-731667-A D-731667-A 
D-760734-A 3 D-760764-A D-760764-A 
D-38362-A 1 D-38370-A D-38385-A 
D-7607 34-A 
D-77389-A 

9 
D-61079-A 

D-731491-A 
D-731510-A 1 D-731510-A D-731510-A 
D-780694-A 1 D-780762-A D-780762-A 
D-731490-A 1 D-542637-B D-542637-B 
D-17633-A 

Type 90M 

5 TCI Library  www.telephonecollectors.info 



m
 

(1
) 

(2
) 

A
p

p
a
ra

tu
s 

C
o

lo
r 

H
o

u
si

n
g

 
C

ra
d

le
 H

o
le

 
T

y
p

e 
A

ss
e
m

b
ly

 
C

o
v

e
r 

T
y

p
e 

80
 

D
-4

9
9

3
5

-
D

-4
9

9
3

7
-

T
y

p
e 

80
 S

e
lf

-
D

-4
9

9
3

5
-

D
-4

9
9

3
7

-
C

o
m

p
e
n

sa
ti

n
g

 

T
y

p
e 

90
 

D
-4

9
9

7
6

-

T
y

p
e 

9
0

M
 

D
-4

9
9

7
6

-

T
y

p
e 

90
M

 S
el

f -
D

-4
9

9
7

6
-

C
o

m
p

e
n

sa
ti

n
g

 

B
la

c
k

 
A

 
A

 

S
an

d
 B

ei
g

e 
B

 
B

 

D
aw

n
 G

ra
y

 
c 

c 

Ja
d

e
 G

re
e
n

 
D

 
D

 

C
la

ss
ic

 I
v

o
ry

 
E

 
E

 

G
a
rn

e
t 

R
ed

 
F 

F 

T
u

rq
u

o
is

e
 

d 
G

 

S
u

n
li

g
h

t 
Y

el
lo

w
 

J 
J 

F
o

rg
e
t-

M
e
-

K
 

K
 

N
o

t 
B

lu
e 

C
a
m

e
ll

ia
 P

in
k

 
L

 
L

 

G
a
rd

e
n

ia
 W

h
it

e 
M

 
M

 

C
O

L
O

R
 

M
O

D
E

L
 

S
U

F
F

IX
 

IN
D

E
X

 
T

y
p

e 
8

0
, 

9
0

, 
an

d
 9

0
M

 T
e
le

p
h

o
n

e
s 

(3
) 

(4
) 

(5
) 

D
ia

l 
A

ss
e
m

b
ly

 
D

ia
l 

H
o

le
 

L
in

e
 

1
-0

 
A

B
C

 
C

o
v

e
r 

C
o

rd
 

D
-8

4
9

0
0

-
D

-8
4

9
0

1
-

D
-4

9
9

9
5

-
D

-5
4

3
2

1
2

-

D
-8

4
9

0
0

-
D

-8
4

9
0

1
-

D
-4

9
9

9
5

-
D

-5
4

3
2

1
2

-

D
-8

4
9

0
0

-
D

-8
4

9
0

1
-

D
-4

9
9

9
5

-

D
-8

4
9

0
0

-
D

-8
4

9
0

1
-

D
-4

9
9

9
5

-

D
-8

4
9

0
0

-
D

-8
4

9
0

1
-

D
-4

9
9

9
5

-

A
 

A
 

A
R

 
A

 

B
 

B
 

B
R

 
B

 

c 
c 

C
R

 
c 

D
 

D
 

D
R

 
D

 

E
 

E
 

E
R

 
E

 

F 
F 

F
R

 
F 

G
 

G
 

G
R

 
G

 

J 
J 

JR
 

J 

K
 

K
 

K
R

 
K

 

L
 

L
 

L
R

 
L

 

M
 

M
 

M
R

 
M

 

(6
) 

(7
) 

H
a
n

d
se

t 
an

d
 C

o
rd

 A
ss

e
m

b
ly

 
R

e
tr

a
c
ti

le
 C

o
rd

 

L
-9

0
2

4
-

L
-9

0
2

7
-

D
-5

4
3

1
1

8
-

L
-9

0
5

3
-

L
-9

0
5

4
-

D
-5

4
3

1
4

5
-

L
-9

0
2

4
-

L
-9

0
2

7
 -

D
-5

4
3

1
1

8
-

L
-9

0
2

4
-

L
-9

0
2

7
 -

D
-5

4
3

1
1

8
-

L
-9

0
5

3
-

L
-9

0
5

4
-

D
-5

4
3

1
4

5
-

co
 

C
A

 
A

 

C
l 

C
B

 
B

 

C
2

 
cc

 
c 

C
3

 
C

D
 

D
 

C
4

 
C

E
 

E
 

C
5

 
C

F
 

F 

C
6

 
C

G
 

G
 

C
B

 
C

J 
J 

C
ll

 
C

K
 

K
 

C
9 

C
L

 
L

 

co
 

C
M

 
M

 

TC
I L

ib
ra

ry
  w

w
w

.te
le

ph
on

ec
ol

le
ct

or
s.i

nf
o 



(Issue 2) Printed in U.S.A. by Edward Keogh Printing Company 

TCI Library  www.telephonecollectors.info 



TCI Library  www.telephonecollectors.info 




